/ ANCHOR BOLT

e

UPPER WALL PRACKET

ANCHOR pOLT

SADDLE PRACKET- LOWER WALL PRACKET

2" EXTRUPED DECK

EE}\ﬂmwxmmﬁﬁ

WALL HUNG CANOPY

3" DECK

GENERAL NOTES:

1) COMPONENT MATERIAL:
ROOF PANEL: 3" X 6" X .060 DECK EXTRUDED ALUMINUM 6063-T6 ALLOY
FASCIA: g'l',\)l(lg'l'_ix .080" EXTRUDED ALUMINUM 6063-T6 ALLOY
HANGERS: I1:I2\l/|28"|_gQUARE TUBE EXTRUDED ALUMINUM 6063-T6 ALLOY
FASTENERS: IEI(g\ll-'I{S:LL PANELS AND TRIM CONNECTIONS USE #12 X 3/4" SS,

HEX HEAD CADMIUM PLATED. PANEL AND GUTTER CONNECTION
TO BE #12 X 3/4" TEK WITH NEOPRENE WASHERS. BOLTS GREATER
THAN 1/4" TO BE ASTME=307 STEEL OR EQUAL; GALVANIZED.

2)IT 1S THE RESPONSIBILITY OF OTHERS TO CHECK THE ADEQUACY OF THE EXISTING BUILDING
WALLS TO ASSURE THAT IT WILL RESIST IMPOSED LOADS.

3) ROOF PANELS MUST BE PITCHED 1/4" PER FOOT MINIMUM.

4) FASCIA TO BE DRAINED AT ANY POINT. A 1 1/4" DIA. HOLE IN BOTTOM OF FASCIA GUTTER WILL
DRAIN APPROXIMATELY 100 SQUARE FEET OF ROOF DRAINAGE AREA.

5) THE STRUCTURE IS NOT DESIGNED TO BE ENCLOSED IN ANY WAY. THE STRUCTURE HAS NOT BEEN
DESIGNED TO RESIST LATERAL LOADS WHICH WOULD BE IMPOSED BY WIND LOADS ON ENCLOSURE
WALL.

6) DISSIMILAR METALS MUST BE SEPARATED BY PAINTING WITH BITUMINOUS PAINT OR OTHER
ACCEPTABLE COATING OR NEOPRENE GASKET MATERIAL TO PREVENT GALVANIC ACTION.

WA\X QUEEN CITY [0 6P, | JOB NAME:
ZAS  AWNING T3S

Order: Drw:

pate:  02.05.10

HANGER ROD CANOPY vom e BC | XXXXXX| 4




Table A Table B
Projection | Wall Height Compression Tube Suspension Tube Loading 20 PSF 90 MPH, EXP. C
Length Length o
Projection 4'0" 50" 6'0" 7'0" 8' 0" 9'0"
4' 0" 1' 8" 3' 10" 3'81/2"
Max Spacing 14' 7" 9'2" 6'2" 4'8" 3'4" 2'5"

5'0" 2'2" 4'10" 4'10 1/4"

6'0" 2'7" 5'10" 511 1/2"

7' 0" 3' 1" 6| 10" 7' 0 3/4"

8' 0" 3' 8" 7' 10" 8'11/2"

9'0" 4' 2" 8' 10" 9'31/4"

1 1/2" SQ. TUBE HANGER SEE DTL. C SHT. 4
—~—— SEE TABLEB ——=
SEE DTL. A SHT. 4
SEE TABLE A
T
? —=] 10" |=—
06" CANOPY WIDTH
TYP. FRONT ELEVATION
SCALE: 1/2" = 1'-0"
UEEN CITY Gy o is2is | JOB NAME: e 020510 | [
! ! Q Clncmna_tl, O_H 45249 .
ZAS  AWNING St HANGER ROD CANOPY smn s BC | XOOXX| D




existing building

1 1/2" sq. tube hanger

1 1/2" sq. tube hanger

see dtl. C sht. 4

see dtl. Asht. 4

SEE TABLE A SHT. 2

-
—~=—— CANOPY PROJECTION ——= 06" ‘ CANOPY WIDTH
HIEGHT T.B.D. HIEGHT TB.D.
i
TYP. SIDE VIEW TYP. FRONT ELEVATION
SCALE: 1/2" = 1'-0" SCALE: 1/2" = 1'-0"
W\\N QUEEN CITY é?r?gn:éti,K%n;pe£5§fé JOB NAME: pate:  02.05.10 Order: Drw:
&I\ AWNING | Siass0ge0 HANGER ROD CANOPY bran 8 BC MXOXOXXXX 3




EXISTING WALL

ANCHOR BY OTHERS 11/2" SQ. TUBE

LOWER WALL BRACKET

WITH 3/8" THRU BOLTS 3" EXTRUDED DECK

11/2" SQ. TUBE APPROX. 4' 0" O/C
3" EXTRUDED DECK

SADDLE BRACKET

=

DETAIL C

EXISTING WALL

DETAIL A

SECTION VIEW A-A
Scale: 1"-1' 0'

TYP. #12 SELF DRILLING SCREW
AT EVERY DECK FLUTE

6" FASCIA (TYP.)

DETAIL A

3/8" DIA. X 2" A-307
THRU BOLT (TYP)

TYP. #12 SELF DRILLING SCREW
AT EVERY DECK FLUTE

6" FASCIA (TYP)

2" X 4" X 1/4" ALUM. ANGLE

SCUPPER ( FIELD LOCATE)

(1 PER 100 SQ. FEET)

DETAIL B

11/2" SQ. TUBE

SEE TABLE A SHT. 2

| 7" Min.
12" Max

SLOPE =~
3" EXTRUDED
DECK
- CANOPY PROJECTION

- DETAIL B

SCUPPERS DRAIN TO FRONT

EXISTING WALL

ALUMINUM WALL BRACKET

3/8" DIA. X 2" A-307
THRU BOLT (TYP.)

11/2" SQ. TUBE APPROX. 4' 0" O/C

WALL ANCHORS BY OTHERS

DETAIL C

SEE FRONT ELEVATION SHT. 2 FOR LOCATION

7225 E. Kemper Rd.
Cincinnati, OH 45249
513-530-9660
fax: 513-530-0662

QUEEN CITY
AWNING

N

= N3

JOB NAME:

HANGER ROD CANOPY

Order:

XXXXXX

pate:  02.05.10
BC

Drawn By:




	Sheet #1
	Sheet #2
	Sheet #3
	Sheet #4

